
Lost nome, firsl nome:

Doytime telephone number:

City:

Stote Zip code

Ploce ond dote of purchose:

Model number of item purchosed:

To order replocement
pqrls, simply coll our Customer
Service Deportment, ot
I .888.535.8632, Mondoy through
Fridoy, 8:00om until 4:00pm, Poclfic
time (excluding holidoys). To help us

ossist you, pleose hove the following
intormolion reody:

r Model nome or number from fie
cover of ihe monuol;
r Seriol number locoted on the frome
of the unit; ond
o The port description ond order
number.

Send your order to:

PHOENIX HEALTH AND FITNESS.l339 
E. Corson Si.

#668
Corson, CA90745

IMPORTANT: Plecrse do nof
relurn ony product to this
qddress.

lf unit is no longer under worronlv
coll for shipping ond hondling, pric-
ing ond toxes (it opplicoble):

1.889.535.9637

PART NUMBER GITY. PART DESCRIPTION PRICE

SHIPPING/HANDtING
TAX

TOTAT



PHOENIX HEATTH & FITNESS INC
]339 E. CARSON ST.

#668
CARSON, CA90745

& FITNESS, tNC.P[t"or*rx HEATTH

^l r::q E cARSoN sT.54. 1>i #6611 I
$l cnnsoN , c^sa7as



rDr
$l 

wornins

9l B"fot" usino this oroduct. oleose con-

fl rrlt your p"ironol'physicion for o

Ql complete physicol exominotion.

fil Flly$#r*iftxf,t"*"'
fl your use of this product, stop exercis-
-l ing ond consult your doctor. Proper

I usoge of this product is essentiol.

I 
Plecse reod your monuol corefully

I oerore exercrsrng.

| ,,"or" keep oll children owoy from

I the equipment during use ond when

I equipment is unofiended.

I o,*op weor oppropriote cloihing,
I including othletic shoes, when exer-
I cisino. Do not weor loose clothino

I 
rhot Jould become cought during"

lexercrsrn9.

I molu sure thot oll bolts ond nuts ore

I tightened when equipment is in use.

I Periodic mointenonce is required on

I oll exercise equipment to keep it in
I oood condition.

l"
I

I

I

I

I

I

L-

Before beginning

How you begin your exercise prd-
grom depends on your physicol con-
dition. lf you hove b""n ino.iiu" lot
severol yeors, or ore severely over
weight, you must stort slowly ond
increose your time groduolly, o few
minutes per week.

lnitiolly you moy be oble 1e sxsl5ise
only for o few minutes in your torlet
zone. However, vour oerobic fihess
will improve ouei the next six 16 6ighi
weeks. Don't be discouroged tf it
lokes longer. lts importont to worK ot
vorr o*riooce. Ulilmotelv. vou'll be
L,bl" to exercise contlnuouslv for 30
minules. And the better youi o"r,obic
fitness, the horder vou will hove to
work to stoy in your torget zone. Bul

remember these essentiols:

>Contoct your physicion before stort-
ing o workout or troining progrorfl.
Hove your doclor review your troin-
ing ond diet progroms lo odvise /ou
of o workout routine you should
odopt.

>Begin your koining progrom slowly
with reolistic gools thot hove been set

by you ond your doctor.

>Supplement your progrom with
some lype of oerobic exercise su;h
os wolking, jogging, swimming;
doncing ond / or bicycling.

>Monitor your pulse frequently. lf you
do not hove on electronic heort rote
monitor, hove your physicion show
you the proper woy to monuolly
check your pulse by using your wrist
or neck. Estoblish your torget heort
rote bosed on your oge ond condi-
tion.

>Drink plenty of fluids during ihe
course of your routine. You must
reploce the woter conlenl lost from
excessive exercisino lo ovoid dehy
drotion. Avoid drin[ing lorge t

omounts of cold liquids. Fluids should
be of room temperoture when con-
sumed.

The Surgeon General
has determined that lack

of physical activity is
detrimental to your health.-



Finding your pulse

To moke sure your heori is beoting in
its torgei zone, you'll need to know
how to monitor your heort rote. The

eosiesl woy is to feel lhe pulse in the

corotid ortery on elther side of your
neck, belween ihe windpipe ond lhe

lorqe neck muscles. Counl the num-

Aerobic €X€rGis€ is ony
sustoined ociivily thot sends oxygen
io your muscles vio your heort ond
lunos. lt will improve the fitness of
your lungs ond heort: your body's

ber of beots in ten seconds, then
mu tiply by six. This cives you lhe
number of bects per minute.

How fost should your heqrt beot
during cerobic exercise? Fost enouqh
lo reoch ond stoy in its "torqel zone,"

most importonl muscle. Aerobic
fiiness is promoted by cny octivity
thot uses your lorge musc]e qroups -

orms, legs or builocks, for exomple.
Your heort beots quickly cnd you

o ronqe of beots per minute thot is

loroely determined by your cge ond
physicol condition. To determine your
torqet zone, consult the chorl we
hove provided.

breoth deeply. An oerobic exercise
should be port of your entire exercise
routine.



The exercise routine thof is performed
on this product will develop both
upper ond lower body muscle
groups. These muscle groups ore
shown on the chort beiow.

Tropezius

Anterior Deltoid

Pectorolis Moior

Serrotus Anterior

Bicep

Abdominols

Sortorius

Quodriceps

- ltbtolts

-"-- __ "_- Posierior Deltoid

---**-Lotissimus Dorsi

Homstrings

-Gostrocnemius {Colf)



A successful exercise progrom consists
of o worm-up, oerobic exercise, ond
o cool-down. Do the entire progrom
ot leost iwo ond preferobly three times
c week, resting for o doy between
workouls. After severol months, you
con increose your workouls lo four or
five limes per week.

Worming up is on importonl port of
your workout, ond should begin every
session. lt prepores your body for
more strenuous exercise by heoting up
ond stretchlng out your muscles,
increosing your circulotion ond pulse
rote, ond deliverinq more oxygen lo
your muscles. At the end of your
workout, repeot lhese exercises lo
reduce sore muscle problems. We
suggest the followinq worm-up ond
cool-down exercises:

lnner Thigh Stretch
Sit wilh lhe soles of your feei together with

your knees pointing outword. Pull your
feet os close into your groin cs

possible. Gently push your
knees towords the floor. Hold
for I 5 counts.

Stretch toword your toe os for os possible
Hold for l5 counts. Relox ond then
repeot with left leq exlended.

Homstring Stretch
Slt with your right leg extended. Resl lhe sole
of your left foot ogoinst your right inner thiqh.

Heod Roll
Rotote your heod to the rloht for one
count, feeling the sketch up the left

side of your neck. Nexf, rotote your
heod bock for one count, stretching
your chin to the ceiling ond lettinq
your mouth open. Rotoie your heod
to the left for one count, ond finolly,
drop your heod to your chest for
one count.



Shoulder lifi
Lift your riqht shoulder up toword
your eor for one count. Then iift 

1

your left shoulder up for one
count os you lower your rloht

shoulder

Colf-Achilles Stretch
Leon ogoinst o woll with your

left leq in front of the riqht ond
your orms forword. Keep your

riqht leq strolqht ond the left foot
on the floor; then bend the left

leq ond leon forword by movinq
your hips toword the woll. Hold,

then repeot on the other side for
I 5 counts.

Side Stretch
Open your orms to the side ond
continue liftinq them uniil they ore
over your heod. Reoch your right orm
os for upword toword the ceiling os
you con for one counl. Feel the
stretch up your riqhl side. Repeol
this oction with your left orm,

Toe Touch
Slowly bend forword from your
woist, lettinq your bock ond
shoulders relox os you stretch
toword your toes. Reoch down
os for os you con ond hold for
I 5 counts.



NUMBER DESCRIPTION

Moin Frome
Slidino Roil
Stobilizer Bor
LeFt Choinouord
Rioht Choinouord
Fr6nt Choinluord
Pedol
Reor. Support
Flvwheel
pt?pp Wheel

leff, Sp|ng Lover
Krg.nf ,5pilng Lover
)Drrol )oflno
nr I v
)pocer
Sbot
Seot Support
Hondle'Bor
Hondle Grio
Pullev '

Soririo Brocket
F{ondle Bor Holder
Shoft
Moonetic Set
KnoL
Tension Adiustment Knob
Comouter
-t^l-oot 5troo
Spring
5troo
Uorier Roller
Lcl*er Roller
Coster
rlOmm Plostic Bushino
^vSensor
Pullev Housino
r6Omm DIA Eidcop
Stobilizer Cushion'
Ml0 x lZ5mm Bolt
Ml0 x l32mm Bolt
MIO x l4Omm Bolt
Ml0x l24mm Bolt
M8 x l30mm Bolt
M8 x 46mm Bolt
4 x 60mm Screw

GIUANTITY ORDER NUMBER

9000r
90002
90G03
90G04
90G0s
90006
90w7
90G08
90G09
90Gr0
90Gr r

90G12
90Gr3
90Gr 4
90G15
90G16
90{'-17
90G18
900-19
90G20
90G2r
90G22
90G23
900-24
900-25
90Q-26
900-27
90G28
90G29
90G30
90G30A
90G3 r

90G32
90G33
90G34
90G35
90G36
90G37
900-38
900-39
90G40
9004r
90o42
900-43

l
2
.)
J

4
5
6
7
B
9
t0
lr
12
1?

14
t5
t6
1-7t/
IB
to
lv
2l
ll
1J
24
25
lo
n7
aaL9

29
30
304
3l,).
JJ

34
Q{

36

3B
39
40
41/a
43

.)

2
I
4
2
2
2
It\)
4
I
2
I

I

2
4



NUIABER DESCRIPTION

MB x B5mm Bolt
M3 x 20mm Screw
M4 x l6mm Screw
4 x 20mm Metol Screw
4 x 25nn Metol Screw
M5 x lOmm Bolt
6 x l6mm Screw
l0 x 23mm Wosher
8 x l6mm Wosher
l0 x 23mm Wosher
rI " Endcoo
MB Nut
Ml0 Nut
3,/8" Nut
Coble Sel
M6 x l5mm Bolt

Q/8"-Nylon Nrt. ^
Reor Support tnd Cop
Plostic Sdocet
50 x I dor* End Coo
rl5mm Steel Bushino'
M4 x l2mm Screw"
5 x I lmm Melol Screw
Beorino
Roller Coo
3/8" x 5T Nrt
Adi. Bolt M6
M6 Nut
Font Support End Cop

QUANTITY ORDER NUMBER

90G44
90G45
90G46
90o47
90G48
900-49
90G50
90G51
900-52
900-53
90054
900-55
90056
90G57
90G58
900-s9
90G60
900-61
90o.62
900-63
90G64
900-65
90G66
900-67
900-68
90G69
900-70
900-71
900-72

2
2
4
6

44
45
46
47
48
49
50
5l
52
53
54
55
56
F-7J/
58
59
60
6l
UZ
63
64
65
66
67
6B
69
70
7l
/l

a
L

9
t0
a
..)

2
2
2
2
4
4
2
7
4
2
I

4



@>

)ru

6 \%-@

\!
i

@-"q"
@



q
Itllr
o
=




